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=6a’+4ab+4a+15ab+106*+10b
—9a—6b—6
=6a’+19ab+106°—5a+4b—6

4) @Qx—3y—1)(x—y—2)
=2x(x—y—2)—3y(zx—y—2)

—(z—y—2)
=222 2xy—4x—3xy+3y*+6y

—=zty+2
=2x?—5xy+3y*—5x+Ty+2

(1) (z+2)(x+7)
=24+ Q+7zx+2X7
=x*4+9x+14

2) (x+6)(x—4)
=z*+(6—4)x+6%(—4)
=x?+2x—24

3) (y—2)(y—4)
=y (—2—Dy+(=2)X(—=4)
—y*—6y+8

4) (a—9)(a+3)
=a*+(—9+3)a+(—9)x3
=a’—6a—27

w37 )

(3a+1)(3a+5)

=(3a)*+(1+5)x3a+1x5
=9a*+18a+5
(2) (4xr—1)(4x+5)
=(4x)*+(—=1+5)X4x+(—=1) X5
=16x*+16x—5
(3) Qx+7(2x—9)
=2x)2+(7—9) X 2x+7%x(—9)
=4x*—4x—63
4) (5y—8)(5y—2)
=(5y)?+(—8—2)X5y+(—8)x(—2)
=25y*—50y+16

wmE8 ()

=x’+8x+16

(r+4)*=2*+2X4X x+4°

(2) (y+7)?=y*+2XTXy+7*

=y*+14y+49

(3) (z—2)=x*—2x2xx+2?

@ (

1

=x*—4x+4
1

2
I_—> =1?—2X—Xzx

6

6

ST S
x 31+36

)

(r—4y)=x*—2x4y X x+(4y)*

=x?—8xy+16y*
(2) (—a+80)?
=(—a)*+2x8bx(—a)+(8b)?

=a’—16ab+64b*

(—a+80)*=(a—8b)* TH5,

(3) (2x+5y)?
=(2x)*+2Xx5yx2x+(5¢)*
=4x*+20xy+25y°

w310 (1)

(x+4

Nx—4)=x*—4*
=x*—16

(2) (a—7)Na+7)=a*—T7*

#wE1

=a’—49

(r+2y)(x—2y)=2"—(2y)*

=x?—4

y2

(2) (4a—5b)(4a+5b)=(4a)*—(5b)*
—16a’— 250

®

r——

2

v

2
= —

(o)

1.,
4y

4) (b+3a)(3a—0b)
=Ba+0b)(3a—0b)
=(3a)*—b*
=9q?— b®

BE12 (1) QCr+1)(z+5)
=2X1Xx2*+(2X5+1x1)xr+1X5
=2x*+11x+5

(2) Bx—4)(5x+3)
=3X5X 22+ {3x3+(—4) X5}z
+(—4)%x3
=15x>—11x—12
(3) (4a—1)(2a—7)
=4X2X a*+{4xX (=7 +(—=1)x2}a
+H(=1DX(=7)
=8a’—30a+7

wE13 (1) (a+b—0c)?

={(a+b)—c}*
=(a+b)*—2(a+b)c+c?
=a*+2ab+b*—2ac—2bc+c?
=a’*+ b*+c*+2ab—2bc—2ca

(2) (x+2y+3z2)?
={(z+2y)+3z}?
=(r+2y)*+2(xr+2y) X3z+(32)?
=r’+4zy+4y*+6x2+12yz+922
=x?+4y*+92°+4xy+12yz+6zx

#E14 (1) (a+20+1)(a+26—3)
={(a+2b)+1H{(a+2b)—3}
=(a+2b)*—2(a+2b)—3
=a’+4ab+4b*—2a—4b—3

2) QCr—y—9Cx—y+2)
={Q2x—y)—4H{Q2x—y)+2}
=2x—y)?*—22x—y)-8
=4x*—4xy+y*—4x+2y—8

BwE15 (1) (z+6)(x—6)—(z+3)(x—4)
=(2?—36)—(2?—2—12)
=x—24
(2) (x+4y)*+@Br+y)(z—3y)
=(2*+8xy+16y*)+(3x*—8xy—3y?)

=4x*+13y*
#wE16 (1) (@—3)*(a+3)={(a—3)(a+3)}
=(a"—9)?
=q*—18a*+81

g1E ADFHE 3



(2) Qz+3y)Q2xz—3y)*
={2z+3y)2z—-3y)}
=(42°—9y?)?
=16x*—T2x*y*+81y*

HE17 (1) Cr+y+2)Qr+y—=z)
={Qx+y)+zH{2x+y)— 2z}
=Q2x+y)?—2z*
=4x*+4xy+y*—z*

(2) (a®+2ab+3b*)(a*—2ab+30%)
={(a®+306")+2abH(a*+3b%)—2ab}

=(a*+3b%%—(2ab)*
=(a*+6a*b*+9b*) —4a’b*
=a*+2a’b*+90*

2 REOEE & p.17~23)

BB (1) 122°—82%y=4x*(3x—2y)
(2) 3a*r+6axr*—2ax
=ax(3a+6x—2)

1) 2*4+7x+12=(x+3)(x+4)
2) 2*—12x+27=(x—3)(x—9)
3) 2*+2x—8=(x—2)(x+4)
)
)
)

o
md

B2 (
(

(

(4) 2*—5x—6=(ax+1)(x—6)
(5) a*—Ta+6=(a—1)(a—6)
(6) y*—y—20=(y+4)(y—5)

BE3 (1) 2?+122+36=22+2X6X 1+6°

=(x+6)?

(2) a®*—18a+81
=a?—2X9Xg+9*
=(a—9)

(3) 4x*+4x+1
=(2x)*+2X1X2x+12
=(2x+1)?

(@) x*—16xy+64y°
=x*—2X8yX x+(8y)?
=(x—8y)*

(5) 25x*—70xy—+49y>
=(52)*—2XTyX5z+(7y)?
=Bx—"Ty)*

BwE4 (1) 2*—36=12—6
=(x+6)(x—6)

(2) a®—49=a*—7*

=(a+7)(a—7)

4 B1E ADHE
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(3) x*—16y*=x"—(4y)*
=(x+4y)(x—4y)
(4) 25x*—64a*=(5x)*—(8a)?
=06x+8a)5x—8a)
2224+3x+1=(x+1)(2x+1)
4r*—15x+9=(x—3)4x—3)
6x*—5x—6=Q2x—3)8x+2)

1)
)
)
) 3x*—2zxy—y*=(x—y)Bx+y)
)
)
)

2
@3
(4
(5
(
(

(
(

3a®*—14ab+8b*=(a—4b)(3a—2b)
4a*+Tab—2b*=(a+2b)(da—b)
3ax*—24ax+36a
=3a(x*—8x+12)
=3a(x—2)(x—6)
L s 9

(2) 7a'x~?

6
1

b*x =%x(a2—9b2)

=%1‘(a +3b)(a—3b)

(3) —ab*+a=—a(b*-1)
=—a(b+1)(b—1)

2Z) —ab’+ta=a(l—0?
=a(1+5)(1—b)

ELTH &,

(@4) ry+axiy+ixy

=zy(x*+4x+4)

=xy(x+2)?

WE7 (1) r*—16=(12)2—4*

=(x24+4)(2*—4)
=(x?+4)(x+2)(x—2)
(2) 8la*—0p*
=(9a%)7—(b%)?
=9a*+ b»)(9a*— b?)
=9a*+0%)(3a+b)(3a—b)

WE8 (1) 22—6x+9—4y°

i

E%I

=(2*—6x+9)—(2y)*
=(z—3)*—(2y)*
={(z—3)+2yH{(x—3)—2y}
=(x+2y—3)(x—2y—3)
(2) 9a*—166%+406—25

=(3a)*—(166>—4056+25)
=(3a)?*—(4H—5)*
={3a+(4b—5)H3a—(4b—5)}
=@Ba+4b—5)(3a—4b+5)

9 (1) (z—2)*—3(x—2)—10
={(z—2)+2H{(x—2)—5}
=x(x—T)

2) (a+b)*+4(a+b)—12
={(a+b)—2H(a+0b)+6}
=(a+b—2)(a+b+6)

(3) (x+2y)’+4(x+2y)z+322
={(x+2y)+zH(x+2y)+32}
=(x+2y+2z)(x+2y+3z)

@) (r+1)*—6(x+1)+9
={(x+1)—3)?
=(x—2)?

HE10 (1) ac—ad—be+bd
=a(c—d)—(bc—bd)
=a(c—d)—blc—d)
=(a—b)(c—d)

(2) ar+br—ay—by+az+bz
=a(lx—y+2z)+(bx—by+bz)
=a(lz—y+z)+b(z—y+2)
=(a+b)(x—y+2z)

ax+br—ay—by+az+bz

=(a+b)x—(a+b)y+(a+b)z
=(a+b)(x—y+2z)

3 HDEEDFIR &*m p24~27) |

BWE1 (1) 102°=(100+2)
=100%+2X 2 X100+ 22
=10404

(2) 72°—282=(72+28) X (72—28)
=100 X 44=4400

(3) 95%105=(100—5) % (100+5)
=100—5°=9975

WHE 2 (1) 43212—4322x4320
=43212—(4321+1) x (4321 —1)
=4321°—(4321°—1%) =1

(2) 1354x1358—1359x1353
=(1356—2) % (1356+2)
—(1356+3) % (1356 —3)
=(1356"—2%) —(1356>—3?)
=—2243=5

HE 3 (2—3y)2xr+y)+3y2
=2x"—b5xy—3y*+3y*
=2x*—5xy
—9x 92— ;i)

2X2 5><2><< 10

=8+3=11

B4 ab+b*+3a+30
=a(b+3)+(b*+3b)
=a(b+3)+b(b+3)

=(a+0b)(b+3)
=(53447)(47+3)
=100X%50=5000
W5 24y’ =(x+y)—2zy
VA
~< 5 > 2x18
—289 o, 145
g %=

HE6 hROMEnETHE
BROEIE n+1, BDoRE n—1
LERIh3,
BROBD 2Fh SB/NOHD 2 F5 V< &
(n+1)*—(n—1)2
=(n*+2n+1)—(n*—2n+1)
=4n
0T, BROKD 2 FH SE/NOHD 2 A
UL &, FROBD 4{E1c7k 5,

RS 7 EOEME, 1LORSEH (p+2¢) m OIF
HEOHEE,? S, 1 WOESH pm OESED
HEZ0VW-bDTH 3,
£oT S=(p+2a)*—p?

=(p*+dap+4a®)— p?
=4ap+4a® - @
BOHREZFELESFED 1 BOESIZ
(pF+a)m TH3H15
al=a{4(p+a)}
=dap+da® - @
D, @& S=av

4 RRERDEE =MW p.28~30)

BWE1 #8323, 5 7, 11, 13, 17, 19

BWE2 (1) 24=2°X3  (2) 405=3'%5
(3) 756=22x3*x7
BB 3 (1) 225=3x3x5x5=(3X5)*=15?
0T, 2251315 DFHTH B,
& 15
(2) 7056=2X2X2X2X3X3XTX7
=(2X2X3X7)*=84%
£oT, 7056 1L 84 DFHTH 5.
B 84
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